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(@)  Write down three sets A, B, C suchthat AUB =AU C, but B # C.
ff¥et srafs A, B, C Rt s AUB=AUC,EB=C.

faf sefs A, B, C @t s AUB=AUC, @B =C.

(b) If Ac B, provethat B'c A'.
where A’ denotes the complement of A.
WM ACB, oW I @B c A
TS A'9 A 9T TS JokeeE |

gt A ¢ B, izt s @t (1, B' c A

T A' 20z A 7 93T 1efo |

(c) Let A and B be two sets. If n(A - B) = 26, n(B — A) = 17, and n(A N B)
o = 12; find n(A), n(B), n(A U B).

A OIF B {5t eS| 7 n(A - B)=26,n(B-A)=17, Q¥ n(A " B) =

12; n(A), n(B), n(A L B) &fenadt |

A 9 B qft &S | ufh n(A - B) =26, n(B - A) = 17, a2 n(A N B) =
12; S n(A), n(B) 9 n(A U B) [y war |

(d) A function f is defined as follows :
fx) =2 -x) (x - 1).

write down the domain of f.

9B T f B9 SRS A AT |Ie

fx) =2 -x) (x - 1).
f o Sfaewacet ot |

5-AM (EN/AS/BN) 2
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(e)

(b)

930 e 99 o st

fx) =2 -x) (x - 1).
f 93 sfesaft @ |

Let R = {(a,b):a,be Z, a-bis divisible by 5} be a relation on Z,
the set of integers.

Examine if R is an equivalence relation.

TG TR 25 7 5o

R=1{(a,b):a,be Z a-b,5 9w Rerer a5t oo |
R SPABT SINQETTO! 5o 200 %0 AW 397 |

TG YT 226 Z 99 Beig

R={(a,b):a,be Z a-b,5 1l Rorer) 4z st |
R SToffb ST oo 7y & 31 13wt e |

Ifa+ib=0; prove thata—ib= 0.
UM a+ib=0, 9T I Wa-ib=0.

i a+ib=0; S AN @ @ a—ib=0.

Find the modulus of the following complex number :

TAq TibeT SILATIBE NI e

N6a Tt TATBI WMo F [y vt -

7-24i
4+ 31

B15-AM (EN/AS/BN) 3
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(c) Find the cube roots of 64.
64 & TIT (IRBT BfeA ol |

64 93 T oE! [ I |

(d) Find the square roots of
Isfqe fafg o<t
P e et

3-4i

(e) Express \ﬁ + i in polar form.

\3 + i T wd WS oA 4 |

\3 + i @ &I I A3 I |

If z is a complex number and Z denotes its conjugate, prove that

(f

(i) z+zZis real
(ii) zZzisreal
Zz+ E

(iii) The real part ofz isT. 1+1+1=3

uﬁzam@rﬁamwwzammqsﬁ’rm, AN 9 @
(i) z+z3IH
(i) zZ I\

zZ+2Z
(ifi) z & IS AT

B .
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T 2 93 S s a7 affy SRye] Gibel ST A, OTRCE am
@ @,

(1) z+z3IW\W
(1) zzZ3I™H

z+z
2 .

(11) z 93 T I

3. (a) One root of a quadratic equation is 5 + i. Form the equation.

51 RIS SN a6t {7 S + i | TGB! 707 4t |
QI feure sifieed 93 5= 5 + i et STAAD 127 I |

(b) The roots of the equation px* + x + q = 0 are real and unequal (p# 0, q
# 0). Show that the roots of x% - 4\]&1 x +1=0are complex.

m2+x+q=0ﬂﬁ%ﬁﬁwﬁv{mwwww¢o,q¢g) |
ﬁqmﬁmx-z-4ﬁx+l=0$ﬁtwﬁfﬁ1@1@ﬁﬁi

Hﬁpxz+x+q=ﬂﬂmﬁwm@ﬂa‘(w,@¢0,q¢m .
Wmum,x2—4ﬁx+l=omﬁm@ﬁa |

(c) Find the condition such that the difference of the roots of the equation
ax? + bx + ¢ =0, (a # 0) is equal to the product of the roots

%EEEWG@HGax2+bx+c-=0,(a¢0)ﬂﬁ1¢aﬁi{ﬁ@ﬁwﬁiw
SARTTT SN 2T ?

mz+bx+c=0,(a¢0)ﬂﬁwﬁafﬁmwmm
S RO 566 e Ft |

B15-AM (EN/AS/BN) 5
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B

4. (a) Findxiflog,32 =x. 1

(d)  The sum of the areas of two squares is 225 cm?. If the side of one

SQuare is 3 cm more than that of the other, find the lengths of the sides
of the squares. 3

T 0TI B orwet 225 @2 | O G5 (T A= T SIACHE
T O 3 2. @ mw, corRe Aforht asfa arq vy Sfenadt |

T wfesras fera swid 225 i | ofi ol qUofa ar=g oy ST 3ofBE
I TR WOPH 3 I =¥ 2 ottt oifofd qrefa area ot FerT @t |

x O[99 Sfenadt of log,32 = x.

log,32 = x &= x 97 W9 [T W@t |

(b) Ifx=log,bc, y=log,ca, z = log_.ab, prove that 2

Tfi x = log,bc, y = log,ca, z = log_ab, =1 It ¥

wod pieoquuesse mmm//:dny

Tt x = log,bc, y = log,ca, z = log_ ab, SI==T N1 Far ¢y,

S B B
x+1y+17z+1

1

(c) 1flog;y2 =0.30103, find the number of digits in 264, )
1fi log, 42 = 0.30103, 264 SRATNIS [T R AFT Fefy oy |
gf log,,2 = 0.30103 I 264 SRATMBS FOB RIF WA fefy ey |
15-AM (EN/AS/BN) 6
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(a) Find the coordinates of the points at which the y-axis intersects the

curve. 1

2x? + Sxy +3y2 -27=10

Wﬂﬁmcﬁﬁrﬁqammy-mmwmmmw%#ﬂaﬂﬁ |
2x2 + Sxy +3y2-27=0

22 + Sxy + 3y2 - 27 = ( SRNFA W B T y-orF @ RFOETS
(en I OItid IS [y Fear |

(b) Solve: 4

6. (a) How many four-digit numbers can be formed from the five digits 2, 3

4. 5, 6, if no digit is used more than once ? i

2.3, 4,5, 6 3T oot 6B arafaRe Sum 6t o157 3 sy
ofi 9B ST IIOE @ IR 90 T2 ?

2.3, 4,5, 6 o3 <6l &R 617 WMF (R IW® W1 17 341 M wf

@] SIE AFANGE @ I A AT = ?

B15-AM (EN/AS/BN) 7 Contd.
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(b)

If*C,+27C, +1C, =9C,,
find the value of n.

fi °C, +21C, +1C, =9C,,
n &9 N7 {7 3 |

n 99 N9 [y war gfy,

"C4 +27°C3 +1C, =5C,,

(c) The number of diagonals of a regular polygon is equal to the number
of sides of the polygon. Find the number of sides of the polygbn.
51 SJ¥N IRYOH FT ST IXYGBN AT SRY ST | IJGGIBE AT
ST [efy 4t
aaﬁwwﬂﬁmwvﬁﬁwﬁmmmﬁwmw
WY =g s [y 3@ |

(a) Evaluate :
N7 ey &4t -
T e
tan 1°tan2°tan 3°................. tan 87° tan 88° tan 89°

B15-AM (EN/AS/BN) 8
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2
(b) If ABCDis a cyclic quadrilateral, prove that :

ABCD 481 5810 5Q¢S T #91 341 (T

ABCD 13 55y 59¢e o=t w1 I

Cos A+cosB+cosC+cosD=0

(c) If A, B are acute angles and A > B, prove that : 5

A, B ST @I Wie A > B T, 9919 9 (@
A, B [ @ 90 A > B T AN A (T

sin (A —B) =sin A cos B - cos A sin B.

(d) Show that:

CYSdt (T :

Gy (@

tan 15° =2 -3

(e) Show that:
ey adt T
NS (T -

tan3Atan2AtanA=tan3A—_tan2A—tanA

B15-AM (EN/AS/BN) 9
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() Show that : 3

-

3t (1 -

Mg (g -

| —cos 28 + sin 26
1 +cos 20 +sin 20

=tan O

8. (a) Prove that the angles made by a tangent to a circle with a chord drawn

from the point of contact are respectively equal to the angles in the

alternate segments of the circle.

Using this results, show that the tangents to a circle from an external

point are equal. S+3=8

AT 34T (T I AT PR T Ao 39 @ o @ qatee

RS GG It T @I @99 ST |

RN RIS yadt (v 9Bt 35 e a5 8T B ~14(F ToleT S |

AT B @, I G G SRR o T Seom I @ R

@I AFIFT FaR S 71t TRoAR Pl (¥ @A @A SN |
A SR (1S @, 93 AMEE Y A Q@A T A e gt
RS T SN |

BIS.AM (EN/AS/BN) 10
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(b) If two chords intersect at
(1) one internal points of a circle,

(11) one external point of a circle,

. the
Prove that, in both the cases, the areas of the rectangles foried by

segments of the chords are equal.
Uit b1 Y TOIT TR
(i) < foogo

(i) I99 IfEqw®

I I@, AN FE @, TAB CFAC T [OIEE (@RS GG I

WSTHA (B IMH TN |
Tft e a9 qfe ot

(i) ofod @O

(ii) qwﬁaaﬁ@ﬁmwmm,wmqmm,%@umm

qfba et ad MO wwocEa 1w Ffer ST |

(c) O is an internal point of the triangle ABC. The bisectors of ZAOB,
/BOC, and £ZCOA intersect AB, BC and CA at D, E, F respectively,

-

Show that AD - BE-CF=DB-EC-FA

B15-AM (EN/AS/BN) - H
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(a)

(b)

ABC fagem O 981 &9:¢ 7 | LAOB, ZBOC, ZCOA I sifevaws
&N AB,BC,CAFD,E, F o v &1 |

®q9d @@ AD - BE - CF=DB - EC - FA

ABC fagrow a3 wwy 5 O | LAOB, ZBOC a® LCOA 9%
TeYaE AB, BC 9® CA di5te ™ D, E 9 F = @7 &9 |

48 @ AD-BE-CF=DB:-EC-FA

Find the gradient of the line passing through the points (4, 1) and
5.1+ '\B). What is the angle made by the line with the positive
direction of the x-axis ? http://www.assamboard.com 1+1=2

(4, 1) T (5, 1 +~/3) ] PR WS @RI @R =t Jeradt |

@I x-WH4 TS P1q ArS It @er [ 2

(4, 1) 9 (5, 1 ++[3) frpndt qrura stavret fefn @t |

@1l W x-SR S R S ool 33 @refe F o

Express the equation of the line 15x -8y =17 in

(i) intercept form

(1) normal form 1+1=2
15x - 8y = 17 (@R SRR

(i) CERA APRS

(i) wfeeTy WIS

#31 F4 |

B15-AM (EN/AS/BN) 12
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15x - 8y = 17 @41z siVFa® @

(1) oM W
() STy W

AP ] |

(c) Obtain the intercept form of equation of a line. 3

AT (@ (@R W Sset [w a4 |

A3 @R R WIRIEE ST ey @l |

(d) Obtain the equation of the line passing through the points (-3, 4) and
2.7. 2

(-3, 4) W& (2, 7) R TSR @R @Y TP [l F4t |

(=3, 4) 9T (2, 7) ] R e s et 3t |

wod pieoquuesse mmm//:dny

(¢) Find the equation of the line passing through the point (3, 5) and
perpendicular to the line 4x +y -2 =0. 3

o @ (3, 5) R TS T AF @IS 4x +y - 2 = 0 RUTSTR
g | urererd s fef 34 |
(3,5)ﬁﬁqﬁaaﬁm4x+y—2=ﬂmmmmﬁaﬁwﬁm
@ |

B15.AM (EN/AS/BN). B Contd,
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10. (a)

(b)

Find the mean deviation with respect to mean of the following

observations.

i REreAdR Trresar o6 [pfs [T 3 -

Frfofirs RoroRa w4 (i 15 R fidfy aXa -

24, 41,33, 15, 35, 40, 29, 38, 5, 40, 25, 20, 45

The distribution of marks of 50 students in an examination are as

follows :

Marks S 15 25 35 45

No. of students 5 8 15 16 6
Find the mean deviation from the median of the above distribution.
51 ATFe 50 s R TP oI Rerem A €391 ¢

QMNE 5 15 25 35 45

it s 5 8 I5 16 6

RroromsTe SrIett -Rpfs ey w4t |

@I WY 50 TF TATAR A1 TR ere fEae:

T 5 15 25 35 45

L4

e et 5 8 15 16 6

oo NYNt QI o6 [pfe [T x|

B15-AM (EN/AS/BN) 14

http://www.assamboard.com

wod pieoquuesse mmm//:dny



wod pIeoquuesse mmm//:dny

(¢} The variance of 12 observations is found to be 6. If 5 is added to each

of the observations, show that the new variance is also 6.
121 @I A5t 6 Cott o'y | Wi AROCHT A AT 5 At I
T, Y3t (T QA RSree #1540 6.

12 B oIfeeseta ot 6 onomt o | TR AfEEER A TEE SO
S QU FA W | BIWA G (T, TOF ANHA 6B T |
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